
ZADACI ZA DOMA]I

Linearne diferencijalne jedna~ine sa konstantnim koeficijentima

Ojlerove diferencijalne jedna~ine

1. Re{iti jedna~ine:

(1) y′′′ − y′′ + y′ − y = x2 − x,
(2) y′′ + 9y = x cosx,
(3) y(5) − 4y′′′ = 5,
(4) y′′ − y = sin2 x,
(5) y′′ + y = sin4 x,
(6) y′′ − 4y′ + 5y = (sin x+ 2 cos x)e2x,
(7) y′′′ + 3y′′ − 4y = xe−2x,

(8) y′′′ − 3y′′ + 3y′ − y = 1 + ex,
(9) y′′ + y = cos2 x+ sin2 x

2
,

(10) y′′ + 4y = ex − 1 + 4 sin 2x+ 2 cos2 x,
(11) y′′ − y = 2ex

ex−1
,

(12) y′′ + 4y = 2 tg x,
(13) y′′ + ay = cot ax, a ∈ R,

(14) y′′ − y = 4
√
x+ 1

x
√
x
.

Re{ewa:

(1) y = c1e
x + c2 cosx+ c3 sin x− (x2 + 3x+ 1),

(2) y = c1 cos 3x+ c2 sin 3x+ 1
8
x cosx+ 1

32
sin x,

(3) y = c1 + c2x+ c3x
2 + c4e

2x + c5e
−2x − 5

54
x3,

(4) y = c1e
x + c2e

−x − 1
2
+ 1

10
cos 2x,

(5) y = c1 cosx+ c2 sin x+ 3
8
+ 1

6
cos 2x− 1

120
cos 4x,

(6) y = (c1 cosx+ c2 sinx)e
2x − 1

2
x(cosx− 2 sin x)e2x,

(7) y = c1e
x + (c2 + c3x)e

−2x − 1
18
(x3 + x2)e−2x,

(8) y = (c1 + c2x+ c3x
2)ex − 1 + 1

6
x3ex,

(9) y = c1 cosx+ c2 sin x+ 1− 1
3
cos 4x− 1

4
x sin x,

(10) y = c1 cos 2x+ c2 sin 2x+ 1
4
x(sin 2x− 4 cos 2x) + 1

5
ex,

(11) y = c1e
x + c2e

−x + 1− xe−x + 2 ex−e−x

2
ln |1− e−x|,

(12) y = c1 sin 2x+ c2 cos 2x+ sin 2x ln | cos 2x| − x cos 2x,
(13) y = c1 cos ax+ c2 sin ax+ 1

a2
sin ax ln |1−cos ax

sin ax
|,

(14) y = c1e
x + c2e

−x − 4
√
x.

2. Re{iti jedna~ine:

(1) x2y′′ + 4xy′ + 2y = 2 ln2 x+ 12x,
(2) x2y′′ − xy′ − 3y = −16

x
lnx,

(3) x2y′′ − xy′ + 4y = cos ln x+ x sin ln x,
(4) x3y′′′ + xy′ − y = 3x4,

(5) x4y(4) + 6x3y′′′ + 4x2y′′ − 2xy′ − 4y = x2 + 2 cos ln x,
(6) x4y(4) + 6x3y′′′ + 9x2y′′ + 3xy′ + y = x+ 2 ln x+ ln2 x.



Re{ewa:

(1) y = c1
x
+ c2

x2 + ln2 x− 3 ln x+ 2x+ 7,
(2) y = 1

x
(c1 + c2x

4 + ln x+ 2 ln2 x),

(3) y = x(c1 cos(
√
3 ln x)+c2 sin(

√
3 ln x))+ 1

13
(3 cos lnx−2 sin ln x)+ 1

2
x sin ln x,

(4) y = c1x+ c2x ln |x|+ c3x ln
2 |x|+ 1

9
x4,

(5) y = c1x
2 + c2

x2 + c3 sin ln x+ c4 cos ln x+ x2

20
lnx− 1

5
lnx sin ln x,

(6) y = (c1 + c2 lnx) cos lnx+ (c3 + c4 lnx) sin lnx+ 1
4
x+ ln2 x+ 2 ln x− 4.


